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 Punnett Square
Practice Worksheet

Complete the Punnett Squares

Cross two heterozygous tall pea plants (Tt × Tt).

(Tall = dominant, Short = recessive)

What percentage of the offspring will be tall? _______

What percentage of the offspring will be short? _______

Answer the below Questions:

1. If a mother has blue eyes (bb) and the father has brown
eyes (Bb), what are the possible eye colors of their children?

2. Why do recessive traits sometimes disappear in one
generation but reappear in the next?


